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Прочитайте текст. Выпишите по два лишних слова в порядке их предъявле-
ния в тексте.
 

After a difficult climb, they reached the top of the mountain. It was then that
everything started to go wrong. Because of one climber had broken his leg, he had to be
lowered down the mountain by means of a rope. His leg was so many painful that he
couldn't stand on it. After a very exciting bit of the film, which I won't describe, he
found himself alone at the bottom of a deep crack. He managed to climb out and
eventually crawl to safety.


